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1.Click the Exhibit button. 
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Referring to the exhibit you have configured an L2 circuit that connects Site-1 and Site-2, but the L2 circuit 

is not functioning The topology in this scenario is shown below. 

Site-1 > PE-1 > P-1 > P-2 > PE-2 Site-2 

Which action will allow communication between Site-1 and Site-2? 

A. Change the virtual circuit identifier to 2 for PE-2. 

B. Add the family inet statement under the ge-0/0/1.512 interface for PE-1 and PE-2. 

C. Add the lo0 interface under the {edit protocols Idp} hierarchy for all routers. 

D. Add the lo0 interface under the {edit protocols 12circuit} hierarchy for PE-1 and PE-2 

Answer: C 

 

2.Which command will match communities 101:111,111:1, and 999:1111? 

A.set policy-options commmity COMMUNITY members "^...:1?" 

B.set policy-options community COMMUNITY members "^1.*:1+" 

C.set policy-options community COMMUNrTY members ["^1.1:1?" 999:1111] 

D.set policy-options community COMMUNITY members "^...:1+" 

Answer: D 
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Referring to the exhibit, you have configured an L3VPN that connects Site-1 and Site-2 together, but the 

BGP routes are being hidden on the PE routers. The topology in this scenario is shown below. 
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Site-1 > PE-1 > P-1 > P-2 > PE-2 > Site-2 

Which two acttions would allow communication Site-1 and Site-2? (Choose two.) 

A.Disable CSPF on under MPLS on P-1 and P-2. 

B.Configure DGP on P-1 and P-2. 

C. Enable RSVP for all interfaces on P-1 and P-2. 

D.Enable LDP for all interfaces on all routers. 

Answer: C, D 

 

4.A layer 2 circuit (RFC 4447) is established between two PE routers to provide connectivity between two 

customer sites. Which two statements related to this deployment are true? 

A.Kompella encapsulation is used in the data plane communications. 

B.LDP must be used for the control plane communications 

C.BGP must be used for the control plane communications. 

D.Martini encapsulation is used in the data plane communications. 

Answer: B, D 

 

5.Click the exhibit button 
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Referring to the exhibit, which router will be the RP? 

A. R4 for all groups 

B.R1 for group 224.1.1.11 and R4 for all other groups 

C.R1 for all groups 

D.R4 for group 224.1.1.12 and R1 for all other groups 

Answer: A 

 


